Ex 1 (A-n-0)
U100 SO 'Y"\Md\ t\q ASSVARENESIV)

K

Ex 2
' AL
@y 4| o). &, piD= e
P 1 4
1 | Ty Y2
> S
4
. - SO: -,
Ewhc&»&@t Jlo ¢ )
3¢
it T e e
(& 3 L /Q
i/2 Sy, 13s . —Jc/é(‘ \‘(ﬂ =0
o 5 v | 7 5 —> “¢h ' &
y Va T | A8 N %%\5/\6 . ‘\/ct‘ WA= L
O "-',/ - S e 6(1
: A ‘
3=1 S= \/2. ‘/
S~
_ , ,_L\ - ;\ca‘ 428 = \l
2z |- T -
- g e
P g9 o B B T ey
Nowmefo A*Q %OKAQAC«OJ‘Q ~ é‘Z’\“ A z/ 6(—(
T :
£ 09 o4 35
ey b, e
Bl 5 % G R T
126 &4 532 fz
IR % S R el

\

% 32U
D NP | B { —> WO
EY-
XO
24&—__(_2:_<’\—_?0\j\;‘\)§

R A

Q\n/vx Mo\



32 372
S 2G L\S
39 = —g?% i————?@\?\w\i) %ﬁc‘gybe‘:\_g_
32 32
16 ,
. T LIS o, oy it
D6 R 2

B
SNRQQ»S)S)?‘)M 1 A6 &} w= 5
X\(eﬁ\&‘{ Q& IATITRAN %Q\j\Q \LQ\ Ny S , ol {ﬁ\,\LQ\:) \kL \"\t\j "}}ﬁ(j}\_é

c — A 1 — < 1§ — 3
4 — |t § -3
g — [O it — A
§ — 3 o —
%(3 \u\u\(&\eﬁe}‘L i N %\W\%\W QR 34%/\‘& el WQ@\ &“Q\Q‘L » 1
\ K 2 Z - ﬂ(g \:\\/\\%\
Z KV\J{ = 2+ ‘Xl* Isa' N y 2 = 1? 7 Z/\k
Ny L SETER NN "Q’\%\Q’“\‘ V3
A s Coat \\i A3 < S\JL Q*“"g\ Y e
m\)\\w\ﬂ Lo conM_ R %w—c\ QK\’*> BPL, ;;:L o
AN \}Cj\\% GV 5?} R &) = X Gk 0 T
N o\k)\u&\ 3
S>‘~\c =) = %X \&c_é\ 4 %\2 )= » “’L_‘:f%\ 4 & o% oauie
WG = | wed T Xy ) & % wed & 3 m@-‘i\
0 S vuof)\ N ga"(_ e \0@‘.@&3
é\%ﬂ,\ﬁ\@k\







